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	2016/10 New Microsoft 70-417: Upgrading Your Skills to MCSA Windows Server 2012 R2 Exam Questions Updated Today!Free

Instant Download 70-417 Exam Dumps (PDF & VCE) 612Q&As from Braindump2go.com Today! 100% Real Exam Questions!

100% Exam Pass Guaranteed! 1.| 2016/10 Latest 70-417 Exam Dumps (PDF & VCE) 612Q&As Download:

http://www.braindump2go.com/70-417.html 2.| 2016/10 Latest 70-417 Exam Questions & Answers: QUESTION 32Your network

contains an Active Directory domain named adatum.com. The domain contains several thousand member servers that run Windows

Server 2012 R2. All of the computer accounts for the member servers are in an organizational unit (OU) named ServersAccounts.

Servers are restarted only occasionally. You need to identify which servers were restarted during the last two days. What should you

do? A.    Run dsquery computer and specify the -sra /epwc parameter.B.    Run Get-ADComputer and specify the SearchScope

parameter.C.    Run dsquery server and specify the -o parameter.D.    Run Get-ADComputer and specify the lastLogon property

Answer: DExplanation:http://technet.microsoft.com/en-us/library/ee617192.aspxSearchScopeSpecifies the scope of an Active

Directory search. Possible values for this parameter are:Base or 0OneLevel or 1Subtree or 2A Base query searches only the current

path or object. A OneLevel query searches the immediate children of that path or object. A Subtree query searches the current path

or object and all children of that path or object.=================

http://technet.microsoft.com/en-us/library/cc732885%28v=ws.10%29.aspxDsquery server -o {dn | rdn}Specifies the format that

dsquery uses to display the search results. A dn value displays the distinguished name of each entry. An rdn value displays the

relative distinguished name of each entry. The default value is dn.NB : epwc doesn't exist for Dsquery computer

=================so even if i'm not sure it's the best way, the only possible answer is using "Get-ADComputer and specify the

lastLogon property" QUESTION 33Your network contains an Active Directory domain named adatum.com. The domain contains

three domain controllers. The domain controllers are configured as shown in the following table.  

 DC3 loses network connectivity due to a hardware failure. You plan to remove DC3 from the domain. You log on to DC3. You

need to identify which service location (SRV) records are registered by DC3.What should you do? A.    Open the

%windir%system32dnsbackupadatum.com.dns file.B.    Run ipconfig /displaydn*.C.    Run dcdiag /test:dns,D.    Open the

%windir%system32confignetlogon.dns file. Answer: DExplanation:The netlogon.dns file contains all registrations.

http://support.microsoft.com/kb/816587/en-usHow to verify that SRV DNS records have been created for a domain controller The

SRV record is a Domain Name System (DNS) resource record that is used to identify computers that host specific services. SRV

resource records are used to locate domain controllers for Active Directory. To verify SRV locator resource records for a domain

controller, use one of the following methods. DNS Manager After you install Active Directory on a server running the Microsoft

DNS service, you can use the DNS Management Console to verify that the appropriate zones and resource records are created for

each DNS zone. Active Directory creates its SRV records in the following folders, where Domain_Name is the name of your

domain:Forward Lookup Zones/Domain_Name/_msdcs/dc/_sites/Default-First-Site-Name/_tcp Forward Lookup

Zones/Domain_Name/_msdcs/dc/_tcpIn these locations, an SRV record should appear for the following services:_kerberos _ldap

Netlogon.dnsIf you are using non-Microsoft DNS servers to support Active Directory, you can verify SRV locator resource records

by viewing Netlogon.dns. Netlogon.dns is located in the %systemroot%System32Config folder.You can use a text editor, such as

Microsoft Notepad, to view this file. The first record in the file is the domain controller's Lightweight Directory Access Protocol

(LDAP) SRV record.This record should appear similar to the following:_ldap._tcp.Domain_NameNslookupNslookup is a

command-line tool that displays information you can use to diagnose Domain Name System (DNS) infrastructure.To use Nslookup

to verify the SRV records, follow these steps:On your DNS, click Start, and then click Run.In the Open box, type cmd.Type

nslookup, and then press ENTER.Type set type=all, and then press ENTER.Type _ldap._tcp.dc._msdcs.Domain_Name, where

Domain_Name is the name of your domain, and then press ENTER.Nslookup returns one or more SRV service location records

QUESTION 34You have a server named Server1 that runs Windows Server 2012 R2. Server1 has the HyperV server role installed.

On Server1, you create a virtual machine named VM1. VM1 has a legacy network adapter. You need to assign a specific amount of

available network bandwidth to VM1. What should you do first? A.    Add a second legacy network adapter, and then configure

network adapter teaming.B.    Remove the legacy network adapter, and then run the Set-VMNetworkAdaptercmdlet.C.    Remove

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 1/5  |

http://www.mcitpdump.com/?p=5237
http://technet.microsoft.com/en-us/library/ee617192.aspx
http://technet.microsoft.com/en-us/library/cc732885%28v=ws.10%29.aspx
http://support.microsoft.com/kb/816587/en-us
http://www.profprojects.com/?page=upm


This page was exported from - Braindump2go Free Exam Dumps with PDF and VCE Collection 
Export date: Fri Nov 22 9:28:22 2024 / +0000  GMT

the legacy network adapter, and then add a network adapter.D.    Add a second legacy network adapter, and then run the

Set-VMNetworkAdaptercmdlet. Answer: CExplanation:The legacy adapter doesn't support bandwidth management (check

screenshots below). and if we remove the legacy network adapter without adding a new one, what would we set with Set-

VMNetworkAdapter? so the complete answer should be "Remove the legacy network adapter, then add a network adapter, and then

run the Set-VMNetworkAdaptercmdlet" but we're asked for what we should do FIRST...  

 (You'll see in the next screenshot that for a "Network adapter, bandwidth is managed here) 

http://technet.microsoft.com/en-us/library/hh848457.aspx Set-VMNetworkAdapter Configures features of the virtual network

adapter in a virtual machine or the management operating system.[...]-MaximumBandwidth<Int64>Specifies the maximum

bandwidth, in bits per second, for the virtual network adapter. The specified value is rounded to the nearest multiple of eight.

Specify zero to disable the feature.Bandwidth managementBandwidth management is a new feature in Windows Server 2012 R2

Hyper-V that enables you to set both a minimum and maximum Mbps of throughput for any virtual network adapter. In Windows

Server 2008 R2, you could configure a maximum bandwidth but not a minimum. Now you can configure both a minimum and a

maximum for each virtual network adapter.You enable and configure bandwidth management on a virtual network adapter in the

settings of a VM, as shown in Figure 3-12. For either the Minimum Bandwidth or Maximum Bandwidth setting, configuring a value

of 0 leaves that setting unrestricted.  

 You can also use the Set-VMNetworkAdapter to configure minimum and maximum bandwidth on a virtual network adapter. As an

alternative to specifying a value for Mbps, you can use this cmdlet to specify a relative bandwidth weight between 0 and 100 relative

to other virtual network adapters. To ensure that all virtual network adapters are given an equal minimum or maximum bandwidth,

you can assign the same bandwidth weight to all adapters. QUESTION 35You have a server named Server1 that runs Windows

Server 2012 R2. Server1 has the HyperV server role installed. The disks on Server1 are configured as shown in the exhibit. (Click

the Exhibit button.)  
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 You create a virtual machine on Server1. You need to ensure that you can configure a pass-through disk for the virtual machine. 

What should you do? A.    Convert Disk 1 to a dynamic disk.B.    Delete partition E.C.    Convert Disk 1 to a GPT disk.D.    Take

Disk 1 offline. Answer: DExplanation:NB: added the missing exhibit

http://blogs.technet.com/b/askcore/archive/2008/10/24/configuring-pass-through-disks-inhyper- v.aspxPass-through Disk

ConfigurationHyper-V allows virtual machines to access storage mapped directly to the Hyper-V server without requiring the

volume be configured. The storage can either be a physical disk internal to the Hyper-V server or it can be a Storage Area Network

(SAN) Logical Unit (LUN) mapped to the Hyper-V server. To ensure the Guest has exclusive access to the storage, it must be placed

in an Offline state from the Hyper-V server perspective.Additionally, this raw piece of storage is not limited in size so,

hypothetically, it can be a multi terabyte LUN.After storage is mapped to the Hyper-V server, it will appear as a raw volume and

will be in an Offline state (depending on the SAN Policy (Figure 1-1)) as seen in Figure 1.  

 

 we stated earlier that a disk must be Offline from the Hyper-V servers' perspective in order for the Guest to have exclusive access.

However, a raw volume must first be initialized before it can be used. To accomplish this in the Disk Management interface, the disk

must first be brought Online. Once Online, the disk will show as being Not Initialized (Figure 2).  

 Right-click on the disk and select Initialize Disk (Figure 3)  
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 Select either an MBR or GPT partition type (Figure 4).  

 Once a disk is initialized, it can once again be placed in an Offline state. If the disk is not in an Offline state, it will not be available

for selection when configuring the Guest's storage. In order to configure a Pass-through disk in a Guest, you must select Attach a

virtual disk later in the New Virtual Machine Wizard (Figure 5).   

 If the Pass-through disk will be used to boot the operating system, it must be attached to an IDE Controller. Data disks can take

advantage of SCSI controllers. In Figure 6, a Passthrough disk is attached to IDE Controller 0.  

 Note: If the disk does not appear in the drop down list, ensure the disk is Offline in the Disk Management interface (In Server

CORE, use the diskpart.exe CLI). Once the Pass-through disk is configured, the Guest can be started and data can placed on the

drive. If an operating system will be installed, the installation process will properly prepare the disk. If the disk will be used for data

storage, it must be prepared in the Guest operating system before data can be placed on it. If a Pass- through disk, being used to

support an operating system installation, is brought Online before the Guest is started, the Guest will fail to start. When using

Pass-through disks to support an operating system installation, provisions must be made for storing the Guest configuration file in an

alternate location. This is because the entire Pass-through disk is consumed by the operating system installation. An example would

be to locate the configuration file on another internal drive in the Hyper-V server itself. Or, if it is a cluster, the configuration file can

be hosted on a separate cluster providing highly available file services. Be aware that Pass-through disks cannot be dynamically

expanded. Additionally, when using Pass-through disks, you lose the capability to take snapshots, and finally, you cannot use

differencing disks with Pass-through disks. QUESTION 36Your company's security policy states that all of the servers deployed to a

branch office must not have the graphical user interface (GUI) installed. In a branch office, a support technician installs a server with

a GUI installation of Windows Server 2012 R2 on a new server, and then configures the server as a DHCP server. You need to

ensure that the new server meets the security policy. You want to achieve this goal by using the minimum amount of administrative
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effort.What should you do? A.    From Server Manager, uninstall the User Interfaces and Infrastructure feature.B.    Reinstall

Windows Server 2012 R2on the server.C.    From Windows PowerShell, run Uninstall-WindowsFeature Desktop-Experience.D.   

From Windows PowerShell, run Uninstall-WindowsFeature PowerShell-ISE. Answer: AExplanation:  

  QUESTION 37You have 3 server that runs Windows Server 2012 R2. The server contains the disks configured as shown in the

following table.  

 You need to create a volume that can store up to 3 TB of user files. The solution must ensure that the user files are available if one

of the disks in the volume fails. What should you create? A.    A storage pool on Disk 2 and Disk 3B.    A mirrored volume on Disk

2 and Disk 3C.    A storage pool on Disk 1 and Disk 3D.    A mirrored volume on Disk l and Disk 4E.    Raid 5 Volume out of Disks

1, 2 and 3 Answer: BExplanation:A. Storage pool can't use Dynamic diskB. Mirrored volume will be > 3TbC. Storage pool can't use

Dynamic diskD. is impossible, we need 3Tb of disk spaceE. Raid5 need to be on dynamic disk  !!!RECOMMEND!!!   1.| 2016/10

Latest 70-417 Exam Dumps (PDF & VCE) 612Q&As Download:http://www.braindump2go.com/70-417.html 2.| 2016/10 Latest

70-417 Exam Questions & Answers:https://drive.google.com/folderview?id=0B9YP8B9sF_gNNl9VMTNzaklUbGc&usp=sharing
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